0001655454438999

o0 HBEXYE 06—

2014 4 BAEEE 55 3 [

3| flx)=2x- %x YEB. MM C Ty = f(x) K2 2MPU, F@), Q(—t, f(=1) (>0 %ED,
RPIZHBT R KR, BT, RQIIBIHEME UL >THENIREE A LT 5.

(1) RPIZHBITHHME 6, ERRE LU, B0, 0) & 4, 6otz zhEnd, dy 8. dy, do
=t & AVTHRYE.
(2) (DTEDEA), dylZHL, dy=dy £ R2EIR D% TATRD &.

(3) (2) TROEENEFND tOIZHL, ME ADOMEE Kb £. \g 7
(10 fn) =304 4. DY ,
j""?:(jrz—:z[')(xqz‘)*rjqf/t — \ 741
o
= (3t~F)x -2’ ﬁ/ g
_ N , zf* ¥
”‘énzf,&?&ﬂ)$3‘}/b\\ﬂ: ot‘) a/l: —— s \\Fz
ot dre T

(3)a XE.
/
tertoss dizde= £

yt?

cdi= V3b1%-121+5

Z-: gamé'?. d//zd/{: ‘—i‘—}@

g

Bl#k 12, 2 4= ”,»,m/i (x-1) +13-£¢
4 2
= "Na/.a 7 - z‘((/zz: ;P)Z‘*f) |
2 2041 /z{rz“_';(');*'%}O
tertere 5)° (t"57'5)

: 6/2 = 2 = < 2
V(55tz) 1 - 2(st™-0 Fof 1+ Gt=$)

—2
r(rzt=pt+5)

2ANT =121 +5

T

(2) Ji=ds £0. PT 71217 -p17252
/2Z“§~/4?‘3+5?‘:0 ST (2r=ndt=5) =0

r>o FY. [= ﬁf— —‘g—ﬁ

4

VA RERTS Cay. WHES @ St4dide = 4d]
5-—
S Fko XEL). Z‘=V;—‘£m55’=/, z‘:?—_amf&:;—?o P




